e
SO~ -0 <D< GO T OO~ OO <T0-C <> © O T OO OO <o OO <> GO =< GO <D OO~ 00 <] @ M“ a D / z X’ L

“TE N”

SERVICE MANUAL

00 00D 00 B 00 G 00 G 00 G 00 G 00 G 00 G 00 G 00 G 00 G 00 C 00T 00 G 00 G 00 G 00 G 00T 00 G 00 G 00 G 04

CAR COMPONENT SYSTEM BOOSTER AMPLIFIER

Model

aOM-251EX1

A
{
A
GENERAL
Protective circuit against temperature is built in this set.
When the inside temperature goes up to approx. 85°C in operating this set at high power continuously or in a
N high temperature, power output is automatically reduced to approx. 5W (max. output).
When the temperature falls down, this set returns to normal.
COMPOSITION
R WerRam Pl FON B i e L e 1
—Bracket BN MBI = Gls shssis stsmsisetos s ssiznsnssssssscssnbe hossbasiaswasiansasonssanssssnen 2
—_Bracket B B it e e o Lo - comiae e e e e 1
POWER VAN R ERESS =l R stal ation 'SCrOW R LIY Cese: s siasevnsassnct teoteieotat, oo St utosn sty R OB e v aaasin 1
OM=-251EX1 ——Lead assembly BN E N DR G I/ s TR e o e siemssemesiapeisani s sisas maaiasaa s saniwneied Cucanssns 1
—Lead assembly RNSEWI=BI380) osrsesratsnssscsnmssisnsibenssssihnssssssnsnstinssorssrass donsuisnssns 1
—Lead assembly BN E N ) = 3 713l s tct e o cn st s mm s mnla s shiee e s mas sl s e S o s seh bl 1
o
—Lead assembly N BRI cnrioon bonmponscns om0 1

D00 G 00 G 00 V00O

FUJITSU TEN LIMITED




SPECIFICATIONS

POWER OQUTPUT «eeeeeeeerenniiiniieniniiiiiniienn, 23 watts or betterx2 (1 kHz, TH.D.=1%)
42 watts or betterx2 (Max.)
INPUT |MPEDANCE ................................. Approxl 10k ohm
SPEAKER IMPEDANGCE ¢1eecetettecsccceccreecnannens 4 ohm per channel
GAIN cosvessoensvvssesassionssmsevsiesstsnsesssassisessssns 38i2 dB (‘] kHz, 100mV input’ RCA term|)
8+2 dB (1 kHz, 400mV input, speaker termi.)
SIGNAL TO NOISE RATIO ceeeeeeerrenenininininn. 50 dB or better
SE P AR DTN it ss i L e e 40 dB or better
FREQUENCY RESPONSE «-ceereereiniinininnnnnn. 100~10 kHz: +0.5 dB or less
30, 40 Hz: 3 dB or less
POWER INPUT:creeereeemeneieiiiiien, 12-volt car battery, negative terminal to ground
Vo]tage ....................................... 13 2N DE
Current ....................................... ApprOX. 23 amperes (1 watt Ou‘[put)
Approx. 14 amperes (Max.)
SE]\/HCONDUCTOR .................................... 1 IC’ 6 transjstors' 8 diodes
DIMENSIONS  rsistice smsnnssmessiisnssnasishssssnsssmes 150(W) XB50(H)X160(D)mm (5-29%5”, 1-3V45", 6-194,4")
WW.ELGHITiss o500 ciotoioiniehistoislafbisieisislsleiniels e lsisisieleleisteielslolelsre slsisis o/es Approx 1.6 kg
® = @
e c
] - ©)
- CH\l /LCHS(;E)AKER LINE OUTPUT J i :@fNE 'Nplj; el
RCA LINE INPUT L-CH(+)
= = — [ 44
R-CH(=) R-CH(+) SPEAKER LINE INPUT C i
EMPT POWER SUPPLY o on \b = m{ 4EMPTY
BACK up—|jj %]_—E[@D—\:’/ R- H(+>
POWER SUPPLY GROUND ))
Fig. 1 (C23440251)
SPEAKER
POWER AMP |-
UM—1‘I40r
COMBINATION UNIT Um-116
CE-4431 M- i

CE 4432 7 GRAPHIC EQUALIZER

CM- 6430Or
CM-6530
POWER AMP
UM-114or
um-116
or
QV-251

Fig. 2 (C32440251)

o QE=231
CE= 4830 SPEAKER

£ A




EXPLANATION OF CIRCUIT [QM-251EX1)

ON ON
gfF—————————————=
BlF——m— e — o =
Temperature change -

———————— 0.55 T
>
=

8} Voltage change Q
T ©
e =
3 o
% Normal (25°C) =2

Voltage at @point : SOmV 3
S g @p S

Time e

Thermistor characteristic in the protective circuit
Fig. 5 (See Fig. 3)

Ordinarily, the voltage of ®-point is maintained at 42V, and the maximum output equals 40WX2. When the
setting internal temperature (of a heat radiation plate) exceeds the temperature of approximately 85°C, the base
current of transistor (Q6) starts to flow in owing to the increase of thermistor (Th1) resistance and it is turned
on, simultaneously with a collector current being drawn. Thereby, the relay (RY1) is also energized, and a part of
current is !ead to the ground. Therefore, the voltage of ®-point goes down to 14V, and the amplifying ratio of a
power IC is decreased. As a result of |t the output will be reduced up to approximately 5W X2 (at the maximum
output) in accordance with pre-determined design features. =~ When the internal temperature goes down to
approximately 75°C, both transistor (Q6) and relay (RY1) are turned off due to the decrease of thermistor (Th1)

resistance, and thus, the normal operation of power IC is again restored.

NOTE: As the setting internal temperature varies in response to the installation place, if possible, avoid installing

it such a place where it will be apt to become high temperature.



BLOCK DIAGRAM

ANT

NO CONECTION

CE-4431A (CASSETTE DECK WITH ELECTRONIC TUNING TUNER)
[SERVISE_MANUAL NO. SM-505
RF AMP ~ CONV IF AMP  IF AMP v DET NOISE BLANKER MPX TONE MUTE DUAL POWER AMP.
72
1 0302 i | — /
FM FRONT - END }« Iy 15 1
Q1~a ¢ & £> l L!

Q352 0 /éf

il

RF AMP ~ IF AMF

EM T8
FM vCO

aM 1B

o)

DOLBY NR

J3
(PIN VIEW)

MUTE CONT
Q806,807
L
gt TUNER ol V. REGULATOR
Ic 201
y L
%A’) MOTOR £ o
POWER SW.
swia
Swi3 e il
IF sw 6v_|v REGULATOR Ao
CONTROLLER 1C801 | 1c805 I |
E AUTO ANT g
805 | K
N
. PR R o
veo : -
¢ q (PIN VIEWR _TO ACC
e L e i) R
| aeo2,804 F g % KOwx3  D1~D5
. SEGMENT 5
IVER 0 BACK U
PRE scaLer | T VS E:> DISPLAY UNIT i
= icsoz A
LPF
oso1,803 [*
- iz =
45MHz DIGIT DRIVER 2
1c804 %‘ g
KEY MATRIX :
g
_—l0
4

MSD/MSU (SW9-4,5)
ME (SW7)

[M1~M6 (SW1~6)
AUTO SEEK (SW9-3)
9KHz/10KH2(SWB),

Fi

(PIN VIEW)

NO CONECTION

i
(PIN VIEW)

QM-251 (POWER AMP)
SERVISE_MANUAL NO. SM- 526

REAR SPEAKER (4 ohm)

L-ch

= W

A

QM-251 (POWER AMP)
SERVISE MANUAL NO. SM- 526

P1
(FIN VIEW)

REAR SPEAKER (4 ohm)

= L-ch

1c

b

[
S

-231 (GRAPHI Al
SERVISE _MANUAL _NO. SM-525

Pa
® e view
TO ACC

g. 6 (C124402517)

>(2)10 ACC

>(1)T0 BACK UP

Pt
(PIN VIEW)
BACK UP a:)c
1 1
1 1
*——0 ——
1 ACC sw
1
1
1
1
i
T BATTERY
it ey
T
1
i



[QM-251EX1]

®® G = &
. 3
5B

A ._ \ A\
A @
{ \

o/

349
///

ol &uoy \\*

;

EXPLODED VIEW



REPLACEMENT PARTS LIST Note: Main replacement parts are marked QO in the remarks column.

Sy(rlr:1ig?l4l\)lo. Stock No. Description Remark

CAPACITORS

C 3 4 RN-E CE-M2R2V50-52 2B IE 50V electrolytic

C 5, 6 RN-E CK-DB561KY 560 pF 50V ceramic

Co7,009,010 RN-E C E-M101V25-41 100 pF 25V electrolytic

€8 RN-E CE-M101V50-31 100 pF 50V electrolytic

Gl 12 RN-E C E-M221V25-31 220 pF 25V electrolytic

©13,.14 RN-E CF-R104V50 1 pF 50V mylar

C15, 16 RN-E C E-M222V 35-2 2200 pF 35V electrolytic

C17 RN-E C E-M471V50-31 470 pF 50V electrolytic

C19 RN-E C E-M100V16-52 10 pF 16V electrolytic

C20 RN-E C E-M332V50 3300 uF 50V electrolytic

c2l RN-E CF-R223V50 0227 nF 50V mylar

G22 RN-E CF-R103V50 o1 pk 50V mylar

C23 RN-E CF-R682V50 .0068 pF 50V mylar

C24 RN-E CE-M102V16-31 1000 pF 16V electrolytic

C25 RN-E CE-M221V16-31 220 pF 16V electrolytic

C26 RN-E CE-M471V16-31 470 pF 16V electrolytic

c27 RN-E CK-DB221KY 220 pF 50V ceramic

Cc28 RN-ECT B2/l 2 270 pF 100V filter capacitor

€31, 32 RN-E C E-M470V10-51 47 uF 10V electrolytic
RESISTORS

RIS, N6 RN-ERD-AE223] B 22k ohm 5% W carbon

RE 3,0 RA0R30 RN-ERD-AE102] B 1k ohm 5% W carbon

R7 RN-ERD-AEI123] B 12k ohm 5% W carbon

R 8 RN-ERD-AE472] B 4.7k ohm 5% LW carbon

R 9 RN-ERD-AE152] B 1.5k ohm 5% W carbon

R10 RN-ERD-AE222] B 2.2k ohm 5% W carbon

RSS2 RN-ERG-AGI101J-1 100 ohm 5% TW metalic

R13, 14 RN-ERD-AE39%]JB 39 ohm 5% YaW carbon

R15, 16 RN-ERD-AE332] B 3.3k ohm 5% VAW carbon

R17, 18 RN-ERG-AG4R7]J-1 4.7 ohm 5% W metalic

R19 RN-ERD-AE330] B 33 ohm 5% W carbon

R20, 24 RN-ERD-AE471]J B 470 ohm 5% LW carbon

R21, 355 36 RN-ERD-AE470] B 4’7 ohm 5% W carbon

R22 RN-ERD-AE221]J B 220 ohm 5% W carbon

R25 RN-ERD-AE103] B 10k ohm 5% LW carbon

R26 RN-ERD-AE750] B 75 ohm 5% W carbon

R27 RN-ERG-AH220]J -1 22 ohm 5% 2W metalic

R29 RN-ERD-AE562] B 5.6k ohm 5% W carbon

R32 RN-ERD-AE81]JB 820 ohm 5% W carbon

R33, 34 RN-ERD-AE563] B 56k ohm 5% W carbon

R37, 38 RN-ERD-AEI181] B 180 ohm 5% LW carbon

R39 RN-ERG-AG820]J-1 82 ohm 5% LW metalic

R40 RN-ERD-AE331]JB 330 ohm 5% YW carbon

TH 1 RN-E VT-471-1 100 ohm 258€ thermistor
ELECTRICAL

Q1 4,796 RN-EVS-2S C438-E Silicon transistor [@)

Q 2 RN-EVS-2S C1815-GR Silicon transistor [e)

Q3 RN-E VS-2SD774-U5 Silicon transistor [@)

Q5 RN-EVS-2SC2750-L Silicon transistor (@)

el RN-E I E-STK430 Hybrid IC [e)

Dl RN-EDT-GZA3R6Z Zener diode, 3.6V (@)

D 2 RN-EDS-1S51588 Silicon diode [e)

D3 RN-EDT-RD36EB Zener diode, 36V [@)

D 4 RN-EDS-5CH2E Silicon diode O

D5, 7 RN-EDS-151885 Silicon diode @

D6 RN-EDP-SEL1321G Light emitting diode O

D8 RN-EDT-RD6R2EB Zener diode, 6.2V (@)
MISCELLANEOUS ELECTRICAL

F1 RN-E FG-B10 Fuse, 10A @)

P1-J 1 RN-EWP-1081 3P connector and lead assembly, power

P 2 RN-EWS-1060 4P connector and lead assembly, speaker

J2-J 3] 4 RN-EWS-1061 4P connector and RCA cord, speaker

apiil RN-E T P-1002 Transformer, DC-DC converter

| P RN-E L L-1017 Choke, 0.4mH

RY 1 RN-E ED-1029 DC relay [@)

RY 2 RN-E ED-1030 DC relay [@)




[QM-251EX1)

“CI;:JIS9N7% Stock No. Description Q'ty Remark
MECHANICAL

1 RN-MRE-1073 Radiator 1

2 RN-MAD-1205 Cover, top 1

3 RN-MAD-1197 Cover, bottom 1

4 RN-MAD-1198 Cover, rear 1

5 RN-MD S-1025 Escutcheon 1 [®)

6 RN-MD P-1311 Escutcheon 1 0

{ RN-MHF-1045 Holder 1

8 RN-MC0O-1008 Clamp 1

9 RN-MP F-1040 Spacer 4

10 RN-M S B-1095 Shield case 2

11 RN-MS E-1243 Spacer 4

12 RN-M PM-2659A PC board 1

Sl F6-SBD-3%X6S Screw, 3x6mm 3

S 2 F6-SBD-3X6S-M-ZN2A | Screw, 3xX6mm 4

SE3 F6-SBD; Screw, 3x16mm

3x16S-M-Z N2A : 2

ST F6 SWZI\%QHSS—M-ZNZA Screw, 3x16mm 1

S 5 F6 SWll\éélZS—M—ZNZA Screw, 3x12mm 1

S 6 F6-SNA-4X14S Screw, 4x14mm 5

S RN-MNR-D4S Nut, 4mm 2

S 8 ! F6-N1-3S Nut, 3mm 1

S 9 | F6-WM-3S Washer, 3mm 1

S10 | RN-MNR-D3S Nut, 3mm -

SI T N EESIBIDE3XI2S Screw, 3x12mm 2

Si2 | F6-SW6NA-3X6S Screw, 3x6mm 3

Sil3 1 Fé SWIN?X8S~M~ZN2A Screw, 3x8mm 1

Stock No. Description Q'ty Remark
INSTALLATION SCREW

RN-MBW-C5%X8S-M-ZN2A | Bolt, 5x8mm 5
RN-MBW-C5x16S-M-ZN2A | Bolt, 5xT6mm il
RN-MET-144 Special screw, 6 x20mm 1
RN-MTN-A5X16-M-ZN2A Screw, 5x16mm 4
RN-MNR-D5S Nut, 5mm i
F6-N1-6S Nut, 6mm 1
F6-WM-5S Washer, bmm 4
F6-WB-5S Washer, 5mm 4
F6-WM-6S Washer, 6mm 1

NOTE: Specifications subject to change without prior notice.




SCHEMATIC
MPM -2659A (P-704C)

Q1
= 23(;438(9 42V
D1 cg L+ |R9 (RO
Ji . CI7
e 7" 470
i - 4.V ok 50V D4
}7 SCH2E
R19 e
3 33 C20 | 4 +C24
] ]DZ v Q2 33% pii8 ¢ Z 1000
S sggr( (ZGSSB‘S m:/ 16V
RD3EEBT o.cav 2@82750(0
R21 ¢
R1 R20< o o 25C438(E)
22K 470 s I 19 ON OFF R22 C25
10 1 220
6V I e oy
T ]
D8 R24 D5 : ;; +
RD6-2EB . 470 15188 |
$R2 7 i R32 OFF @ OON
1’22K 06 1: : 820 e X’
5 25C438(E) } 2V 1 D6 |
R29 § 11321 RY2
I R297 R30 31V RY1 SEL1321G —— 2(:227P
. rf
@/E‘g R39 82
25°C
§|L1
. 0.4 m
D7 T
oty 151885
i — 1T T A
o6 0 L il i
$R35 : ;
T47 4 "
R-ch 12 0 @ '
= €| Lch Rch@® § ETC;A
I ; P2
| =] ===
J =k LINE INPUT
R36 = (SPEAKER) J1
47 ‘ (PIN VIEW) POWER GND
R34 R38 ' ¢37t ' (PIN VIEW) SUPPLY
56K 180 47 (PIN VIEW)

Fig. 3 (C24440251)
NOTES: 1. All capacitance in Micro farad, P=10"12
2. All resistance in ohm, K=108
3. All inductance in henly, m=10"3, p=1076
4. DC voltage against the chassis measured with 100k ohm/volt meter, power supply set at +13.2 VDC, no signal

input.




WIRING ON PC BOARD

YEL
=] e RED
Firasiail |
I = | '
i o E dis 2|8 Q3 i
: Q2 2E
: : §"§ : : ()Cé% Q5 250774 2SC1815(GR) 2
i Tl T SReE 8L EO8 s ol : : RD_tésEB ?C
i | ! Q4 = 2 E =3
Gl o YEL | 250138 T 2N 0027\ g zg ¥V
_____ - — al\ o
RED 5 o ol D2 i
b i 54 151588 ol |
e RY2 @O pn~~ )|
A e / § . e— 3 |
T e BLU/RED | : +#§§ # | :
e ) 1 | | =
T | s P
| I ' '
2 | ON . ~ Q@ N J
25 22088 &y 2
_.H._ | ! :
P1 ' | ! ~
ORN : . | =) ! Q6
| | | =8 “ 25C438(E) S
GRN/BLK e (1% g et g
- L ! R29
L L A ' - Z{.‘( e D8 ™™ 56K
— X
=4 = RD6.
BLU 207 \% 8§++ Ry s
GRN § & ] BLK
o~
.L BLU/BLK mo < g oS L
f —m die of ¢ _Q ox D6
B | S = A 17 ‘I; magéﬁg SEL1321G
P2 &+ R38180 \
GRN / C3p ATt . oG a7 . e @
BLU < 4 C17 = 9@/ R8 100
LE 5 Eaiee | 40 %8 s 276, FF | Th Ps-21
=4 GRAY ! d eh—A vy . L | ] R
¥§ o % ) n Cll P
= = afres x R2 +Z#UN ++ 1.5K C9 220
S L 8% ~ AM- + N “m- R13
J2 7 o BRFIN: & 2K ~ 100 4 3
) @© o ~|© T 4 —MA— - pA
270P 2 25T o c6 RIS 5 ;
RED o f| o Svo s6ors 33K 3.3K oxt L el
J3 | % 5 © R WH IVl W - g Cof s
! | ) C3
e GRAY (1.2345678910112131415 iz K
Ja| I| || | GRN
BLK GRAY
J1 EE

Fig. 4 (C27440251)




	10001
	10002
	10003
	10004
	10005
	10006
	10007
	10008
	10009

